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(cos®0 +sin®0 - 1)(tan’0 + cot’® + 2) + 2

(secO + tanO)(secO - tanB)” cosO
I\--—--J "N...___.l

(%3%7()—)'—?-‘_1—?_ =@i—1,0°< 0 <90°, thenk = ?

3y5in6 (b) cos©
‘ """$ (c) secH (d) cosec©




The radii of two concentric circles,

I’S _’2 q-Slwrlth centre O, are 29 cm and 21 cm.

Yo

D point C and AD is the diameter of
the larger circle. What is the length

”6Chnrd AB of the larger circle is
tangent to the smaller circle at

of CD? (Correct to one decimal

?-9.?2’0:? T @ weRd gl @

o 29 A 3k 21 9@ & ¥
gd @l offar AB fdg ¢ W BIC 9 @I
WIRET 2 3R AD €8 qd &I AN
2| CD @ dars fha-l 2?7 (Mg

® Uh ©IF db dal)
(a) 45.8 \an{'s

(c) 46.2 (d) 45.6




Water is flowing at a speed of 1.25
m/second through a pipe of

diameter 0.14 m into a rectangular
tank, which is 60 m long and 44 m

A
wide. What is the time (in hours) in

which the water level mank
will rise by 7@ (Take n = 22/7.)
0.14 HIeX AT dlcl Udh UISU & HIEIH
4 60 Hiex o4 3k 44 Hiex =i
AUATHGR <Sd H Ul 1.25
Hlex /AP @ Tfd A 98 8T 2| 98
a9y (bt H) @7 8 i 3o #H
Ul &1 WX 7 9l 9 SITuIT?

Uars? (b) 11 I(NR

(c) 2+ (d) 1%




(a) 16

"Lol’ls

(b) 20
(d) 18

can do a certain work in 40 days.

B is 66%% less efficient than A and

C is 400% more efficient than Bf/AIl
the three started the work together.
If B and C left the work 5 days and 2
d":'.li_s_ before the completion of the
work, respectively, then in how
many days was the entire work
completed?

A & F¥@a s 40 fas1 4 o
WHar 21 B, A 9 seg%magmaé‘

3R C, B ¥ 400% 3AfT$d I 2 |
gdl 4 U Wl oM e fhar| af
B 3R C 7 & QT 84 € HHI: 5
fea 3k 2 feq ugd &mm wis fewr,
dl QT & fbad f&=1 § qRT gan?




The sides of a triangular park are
100 m, 156 m and 224 m. Its areas

S
is equal to the area of a rectangular

3 ’ I 2 §_ field whose sides are in the ratio 21

Nﬁ'“ L'x W = Q X<0N : 20. What will be the cost (in Rs.) of

putting fence around the

“, '1 éf rectangular field at a rate of Rs

— L g '
)ﬁqmm' w n 25.50 per metre?

Ud PYUeR 9id d1 Hurd 100

flex, 156 Hex AR 224 #Hiex 2|

APl 8% TP AAATPR HSH
8-2 #A%hdl & a)MEX © fSrdedl ol &1
JqUId 21:20 ©| 25.50 ¥9d Hfa

flex @ ¥ 9 JudeR dASH b
&'YD % (15 P00% () 6,27%  IRY alk @re @ @ ard (PR
39{ (c) 5,229 () 4,184 3y o =hf?




185 152.{o
sov 25250

Sudha invested her savings in
schemes A and B in the ratio 3 : 5,

each for 1% years. Scheme A offers

interest at a rate of 20% p.a,
compounded 6-monthly, whereas
Scheme B offers interest at a rate of
10% p.a. compounded annually. If
the difference between the interests
received from A and B is Rs. 152.60,
then the money invested in Scheme
B is:

qGT | U 99d dI I A AR B
¥ yds 1%ﬁ$m3:5$



Iqura ¥ fder fdar) JAer A 20%
gfa 9 @) ¥ | <A Ue P!,
ol 6—Afie vy | waifera sidl 2,
Wdfed T B 10% ufa 9 &f v 4
S UG dRdl 2| difde w9 9
qaifoa sidl 21 afe A IR B 9 wiw
Tl & 41 BT JaX 152.60 3. & dl
qiwqr B # a9 fham 1am o9 2

(a) Rs. 4,000 (b) Rs. 4,500
(c) Rs. 3,000 \}ums. 3,500




If x=a and y=p is the solution of

the pair of equations - —1+1=0
2x y
and P =8, X, y = 0, then what

X 2y

is the value of (a'+B)?

=8 Bl x= u\?ﬁ_\'y B%

1,1
X 2y
OEl X,y = 08, A (a'+B") &T A
SITd BN |

(a) 11 \Jbl’{

(c) 12 (d) 13



Suman’s age, one year hereafter,
@ will be 3 years less than twice the
SUMUM %‘ I present age of Sangeeta.CAfter 6
/—\ years from $ngeeta’s age will

PM 3‘1_—6 LN—-6 50 _\2 be equal td 2/3" gf Suman’s age at

that time. at is the sum of

@ 3‘1—5 A< """'?,9 resent ages (in years) of Suman and

Sangeeta?
qﬁ\‘ gq:faﬁwqasa—efa—mwnmaﬁ
qdd{l 8% @ QA 8 3 98 &

WU) gfl| 39 ¥ 6 a9 qr1g, Hidr &1 S¥
G2 S L— Su o g @S9 @ 2/3 @
SN awmaw @hfi a1 AR gifar a1

i R ada asl H) &1 T =27
352 3\(27&"6) K (38 (b) 40 T2 =S

0= 2. & (c) 32 (d) 34



The marked price of an article is
g Rs. 800. It is sold for Rs. 538.56,

after offering three succgssive
(5/3 discounts of 10%, x% and 12‘;‘/j If a

single discount of 2x% is given on

2!0...

the marked price, then the selling
_“41 Ol ce (in Rs.) of the article will be:
6336 %] &I 3ifdd Jou 800 T =z |
10%, x% 3R 12% &I MMdR o=
|oY. 6336 °

| BC &I UG & 915 39 538.56 ©.
G/'+3L_60L{ft 491 Wrar @ | Ife difed You w
&\) 633’6"9(7 2x% I Udhd BT 4l WIdl =, d 9]

x,:h' \ &l fapa gou (vud ¥) B |
/ S?&';‘g (a) 576 (b) 544

~ géb (c) 512 _Ldy560



If (l}_x +8)3+(2-x%)3-27(2x-5)3 =
- 9(11x+ 8) fx - 2) (2x - 5), then what

' )
is the value of

x> -367?

(a) 9/2 (b) 7/2
(c) 9/4

M‘@
JRT3¢6




The cost price of a table is Rs. 750

more than the cost price of a chair.
The table is sold for Rs. 2,250 and
T- the chair is sold at a loss of 25%. If
h ‘(Oe a profit of 25%.in the entire
Co? ‘1%#750 'x. M what
0 ge profit was the table

5? W S sold?

qub —-wéaamamﬁ 1ed Uh $dl @
aﬂmq\wﬁ'rsomm‘él

eqdd 2,250 v ® &4l g B 3R
M 3)("‘2250 = ..S_- odl 25% = W) 9441 g IR R®

X 'I":"SD ds—as H 25% &I o9 g3Il, dl <dd

(PMZ‘D \1 fpas ufoera am AR 4t 18°?
S26r= g (o 7 (i




In trapezium ABCD, AB || DC, AB
= 9 cm, DC = 15 cm and the
distance between AB and DC is 4
cm. F and G are the mid-points of
AD and BC, respectively. DA and CB
are produced to meet at point E.

What is the area (in cm?) of A EFG?

H¥eid ABCD #, AB || DC, AB = 9
491, DC = 15 9] 3R AB IR DC &
49 @1 g 4 91 2| F 3R G HA:
7AD 3R BC & #eg—fdg €| DA 3R
B fdg E W fiad 2| EFG &I
AT%d (A2 F) 77 87

(a) 45 (b) 40
M (d) 36




A boat can go 2.4 km upstream in
16 minutes. The ratio of the speed

of the boat in still water to the
speed of the stream is 8 : 3. How

much time_linshours) will the boat
take to go n in still water and
33 km di?

U$h A9 16 fAc ¥ ar1t @ uldad
2.4 foft o wadt 2| wig urh A
a9 1 Tfa AR gRT B AfA B
JqUrd 8: 3 ©| ud Ul H 21.6
fodfl 3k arT @ FqHa 33 faill
o< # A1a foa-m g9g (a6 o)

AT T?
(a) 5/2 «1B) 19/6
(c) 17/6 (d) 3



K3

I
A6 08

|'§' — .f..':\ (@275 (Hr270

(c) 240

(d) 248

The angle of elevation ‘0’ of the
top of a tower at a point on the

ground is such that cos® = 12/13.

When the point is moved 288 m
towards the tower, the angle of
elevation becomes ‘¢’ in such a

way that sin¢ = 3/5. The height
(in m) of the tower is:

W R TP fdg WX UH TR B
i &1 ST BT 0’ TH YD

cos® = 12/13 & | W4 fdg &I <crax
gﬁaﬁzssrﬁamﬁmw



— N
If (9% - 7)° + 8(5 - x)3 - 27(4x + 11)3
x + 11), then
x*+x%+1 ,
is:
x‘-x+1
(b) 30

(d) 27




nlutinn A contains liquids X, Y and
Z in the ratio 2 : 3 : 4; solution B
contains liquids X and Y in the ratio
S5 : 7, while solution C contains
liquids Y and Z in the ratio 5 : 4.
Three litres of A, 2 litres of B and 5
litres of C are mixed to form a new
solution. What is the percentage of
liqguid Y in the new solution?

(Correct to one decimal place)

g9 A § §9 X, Y 3R Z BT
&ﬂmﬁ2:3:4§;ﬂﬁ8ﬁ§ﬁ'x

‘361‘1241;0 \} 3R Y &1 o[urd 5 : 7 2, wafe G
CHSAYIINZBIIAUAS:4 2|

3,60 36'() Udh 4T "id 9911 @ foig 3 <fiex A,
.ZEﬁE‘\'BaﬁT\'SEﬁE‘(CHﬁﬁW

( Gl @ - 14 "9l ¥ g4 Y &1 gfae«
&P(O'/ (a) 45%  ATA9.9%  frgay 22 (QUHeld D YH ©IF dAb

(c) 48.5% (d) 34.8% &)

(a) 45% (b) 49.4%
(c) 48.5% (d) 34.8%



A trader sells 25% of his goods at
40% profit, 40% of the remaining
goods at 10% loss, and 20% of the
remaining at the cost price. At what
percent profit should he sell the
remaining to earn a 15% profit in
the whole transaction?

U AT A9 HTAd BT 25%, 40%
a9 U, IY 40% Al 10% BT 1R
X Y BT 20% AFTd oI U d9dl
gl R od-—<d # 15% oM Afwd
d1 b forv S 9w &1 fhaa uforera
T UX 49T 91f8u?

(a) 211 % (b) 23 1%
A0

1 2
c) 21-% 229
() 21 Jgr22



A cylindrical vessel of radius 16 cm
contains water to a depth of 20 cm.
A solid spherical metallic balls is
dropped into the vessel which is
fully submersed and raises the level
of the water in the vessel by 9 cm.
What is the surface area (in cm?) of
the ball? (Assume no overflow of
water)

16 9 a1 e (6 deFBR gd+
# 20 |4 @1 TEUs I U 2| TP
S TMTdR 91q &1 A H 9d A
AR oar @ o ¢t ave 9 =4
orar 2 3R §d9 # Ul &1 R 9
a9l 9¢ odr 21 e @1 S
ga%d (AH2 ¥) | 8?7 (| <
gt &1 rfavare 2Y)

(a) 288 nt (b) 784 n

(c) 324 nt U576 n




If x = a and y = P satisfy the

WA equations 5x + 9y = 37xy and 4x -
g)( 7y = -13xy, x = 0, y = O, then what

_a 6 is the value of a2 + p2 - (af)!?
SRy (@) 5 AT

7’ (c) 9 (d) 11
- |0
A




A sum of Rs. 9600 amounts to Rs.
11616 in 2% years at simple

Q\O’Q interes? What will be the amount of

— the same sum at 3/4tt of the earlier
1
rate in 5 years?
— Yo32. n
—§- 9600 U ®I V3T HIEHRI ATl ‘T\'
laﬂfﬁ 11616 %. & WIdl 2 5-
l - )““B' ‘q’ﬂT | ﬁrgi?-lﬁ’r % 3/4 W HAN
/agsa 5 ?
Rs. 12,926.40 Ul gx'u'

3600 +m® Rs. 13,203.20 7 ﬁ_/(

(c) Rs. 14.035.2 %
' (d) Rs. 13,480.80




The sides of a triangular park are in
the ratio 12 : 17 : 25 and its
perimeter is 648 m. At each corner
of the park, there is a flower bed in
the form of a sector of radius 35 m.
What is the area (in m?2) of the
remaining part of the park? (Take
n=22/7)
Ud BYTeR 9 B Y3l &I
MU 12: 17 : 25 ® IR SHDI
uRAY 648 Hiex 2| Ud B UAD
&1 W 35 Hex o ard @
PreaEs @ w9 4 Gdl 3 @R B |
)

g @ Y HAT BT Sa%d (HR2
T 2?7 (Take nm=22/7)

(a) 9,180 (b) 9,210
(c) 9,220 11,035




In a year, out of 240 games to be
played, a cricket team wants to win
80% of them. Out of 65% of the
games already played, the success
rate was 75%. What should be the
success rate for the remaining
games to reach the target?

Uh a8 ¥ o W drel 240 A4l A
4 e fpdec A9 9 9 80% Sfia-T
gred! 2] Ugd 4@ @d MU 65% AT
4 9, 9%ddl &% 75% °fi| oIy #=
b |8 dd Ygdd & [y heldl ¥

ER IR aﬂ%q?
(a) 88.4% (b) 90.2%

(c) 87.8% \Ms%



